Talk a Lot

Money
1. Ruby gets £6.55 per hour for working at the cinema.
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	content word:
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	no. of syllables:
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	connecting sounds:
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	missing/new sound:
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	example(s) with IPA:
	£6.55 per hour:  /'sIk'spaUn'fIf.ti'faIf.p@'raU@/
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	suffixes:
	Rub-y, fift-y
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	compound nouns:
	none


    7    connecting sounds:                                                    8    features of connected speech:
	cc
	consonant sound to consonant sound
	
	
	GLACIER:
	Contraction
	a word is shortened

	cv
	consonant sound to vowel sound
	
	Glottal stops
	an empty space without sound  /?/
	Intrusion
	a new sound appears – /j/, /w/, or /r/

	vc
	vowel sound to consonant sound
	
	Linking
	syllables connect together
	Elision
	a sound disappears

	vv
	vowel sound to vowel sound
	
	Assimilation
	a sound changes
	R-linking
	syllables connect with  /r/  sound
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